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AUTO TEST MTERFY 17 BmM&a# 9 5 12

| B4 | K% (952 E3il| Hﬂﬁlﬁx)}INCASC [C.S.C.C. JAGMSC [[THIBAULT|C.S.C.C. [TOSC [NC.ASC
1 N E— 2 36 | 36 27 ¢ 16] 1 20
1 hEr EA 3 36 | 36 9 10 3 14] 4 12
3 R 8 2 26 | 26 2 16] 7 10
3 B A 2 26 | 26 4 12 3 14
5 FH  8hE 2 24 | 24 3 14 8 10
6 INFFEREF 2 22 | 22 5 11 5 11
7 hEy =X 2 21 21 5 11] 10 10
8 HE Kt 1 20 | 20 1 20
8 XE #&£— 1 20 | 20 1 20
8 % F0Ek 2 20 | 20 8 10 9 10
11 I 2 1 16 | 16 2 16
12 BH B4 1 12 | 12 2 12

13 EE I S 1 10 | 10 6 10

13 RiF Ty 1 10 | 10 7 10

13 YH BE 1 10 | 10 6 10
13 InEgE FE 1 10 [ 10 11 10
13 HEIG = 1 10 | 10 12 10

AUTO TEST ATERPFS 11 SmEH 5 7

63 K4 757 S E&E] A% [NCASC [CS.C.C. [AGMSC [[THIBAULT|C.S.C.C. |TOSC NC.ASC
1 HF e 3 ] 48 ] 48 | 3 14] 1 20] 3 14
1 B ] 3 48 | 48 120 4 12 2 16
3 INEFE &S 3 42 | 42 2 16] 3 14] 4 12
4 iE jc$E 2 36 | 36 2 16| 1 20
5 BRIF B 2 22 | 22 5 1] 5 11
6 xXE EE 2 20 | 20 8 10| 7 10
7 B 1 12 | 12 4 12
8 FH AE 1 11 11 5 11
9 INEFFHFEF 1 10 | 10 7 10
9 Rl E IR 1 10 | 10 6 10
9 ME/NEES 1 10 | 10 3 10
1. HEZESR 102

2. BRI IR R

1=10 2f1=6 3fz=4 4ff=2 5fi=1




